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Ans X 1 300 IERSET FHEAT (IU)
X 2 200 TS AT (IU)
2 3 500 FWTSET sFEAT (IU)
V4 400 FFRTSET FFFAT (1U)

Q.3 v ov ow Rt (Answer figures) & B A & 78wl W oAw A
T wT wialEE g

Prodlem Figure

CQuestion 1D : 9864493707
Status - Answered
Chosen Option 3

Answer Figures

253@

From the given four figures choose the correct water image of the below figure:

Prodbilem Figure

Answer Figures

Ans  OC 4
X2C
v:D
X4+«B

Q4 10 0¥ & wEw S, FEWE 79 # g § Oy s, 0o F e
wfiines & S =T 8 e 1 FEe Sy & =T gem

Two identical reststors, each of 10 £, are connected in parallel. This combmation, in fum,
is conpected to & third resistor of 10 £2. The equivalent resistance of the combination
is

Ans X110 Q
X230Q
vils Q
X45Q

Question 1D ;9864493306
Status : Answered
Chosen Option : 3

O° S IET IEg H afas Fe H 3R A 2
What does the kinetic energy of an object increase with?

Ans T]%

v

Speed
r

Mass
X 3 TroT

Friction
o4

Time

Question 1D : 9864493042
Status : Answered
Chosen Option : 2

Q.6
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Tt A A vw apn 13 #efeT @ ot we o Rawt 10 f0eier § oA T
At M £ wend am gl

Status © Answered

Chosen Option ;1

The length of one side of a thombus is 13 cm and one of the diagonals is 10 cm. What is
the length of the other diagonal?

Ans
X 1 22 HéeT
22cm
X 2 23 F&aey
23cm
v 24 FEHRT
24 cm
X 4 25 e
25cm
Q7 #F W amEw fran =t sl e St & et a & o e s

Ans

P B

Question ID : 9864493858
Status © Answered

Chosen Option ;1

G

HE HEREET AT AT
L L

1, A WoesET AlEE W

2. R S 0§
Consider the argument and decide which of the given assumpdions is‘are implicit,

Argument:
Alexamder the Great was mortal,

Assamption:

1. Alexander the Great was human.
2. Alexander the Great is a Greek.

o, ¥ o 1 R @
Only assumption 1 is implicit
31 AR 2 =t AfeT &

Both 1 and 2 are implicit
s mar1ar2 RAE d

Neither 1 nor 2 is implicit

, el uroT 2 e ®
Only assumption 2 is implicit

X

Q.8

Ans

A= & & #F & v gadT g B2
Which of the following is a surface phenomenon?

Question ID : 9864493508
Status : Answered

Chosen Option ; 3

1 FHAT
Freezing
eeET
Melting

) Evaporation

52
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ECEC)

4 Boiling

Q9 s Fx § off GREEN 5t ITGGP et =0 § &t o 517 & PINK =1 33

formr FMTm?
If in & certain code, GREEN is written as ITGOP, then how will PINK be written as in the
same coda?

Question 1D ; 9864494265
Status : Answered
Chosen Option : 4

Ans X 1. KLON
< 2 TUMJ
< 3 RKQS
v + RKPM

Q.10 7 W - & = ST A EER A (e & S St §, S S
W @ T BEW - T R e i A & a1
Who wrote the book *Two Fates — The Story of My Divorce’, which is a parody of Chetan
Bhagat's “Two States — The Story of My Marriage'?

Cuestion ID ;9864492401
Status : Not Answered
Chosen Opfion ;-

Ans X1 ATEaT TE
Namita Gokhale
x> IS sierer
Swati Kaushal
gl
v: T
Judy Balan
o vyt T
Arundhati Roy

Y 37 RT & TIF F A THE § FEtOd A6 2

CQuestion |0 : 9864493659
Status - Answered
Chosen Option -1

1 2 3 4
Select the figure which does NOT belong to the group,

AlF|Z]E]
4

1 2 3

Ans {: 4
X 21
X33
X42

Q.12 oot et # & #iv @ 7o oiar =97 §, 36,15 3T 20 3 9o Rl g

Find the smallest square number from among the given option which is divisible by each
of 8,15 and 20,

Ans x1 6400

Question 1D : 9864492520
Status : Answered
Chosen Option ;1

X 2 14400
W 3 3600
X 4 4900

Q.13 o it & 10 FreT i g 3 T | wg e 9T T § i s der i
ST F ST I0H AT | THE & SHIA, T AT A e Sionr g gh
A ball is dropped from a beight of 10 m. It sty .

Question |0 : 9864493082
Status - Answered

of 2.5 m. During the collision, the per cent 1o CE e 13 < N IR A ¢ Ll EET O in Option : 2
Vacancies and updates on one click




Ans X 1.100%
X 2 25%
v 75%
< 4 50%

Q.14 a7 A Rt 0t g S5 @1 28 ©F & anh a0 wed §, Sl owT B S
el & W 35 O A AT A §1 I O S & O, dRfeew v iR
ST 9T 3T T A AT B 1 vR ¥ T ow, TH O & fRv sen o
femr 7 £ & &= weht = & e mmw e

Pipe A can empty a filled tank in 28 hours while Pipe B can fill the same tank, when
empty, in 35 hours, If alternately Pipes A and B are turned on for an howr ¢ach time,
slarting when the tank is full, bow long will it take to empty the tank?

s v 27
271 hours

x 2 275 B

275 hours

x 3 279 B

279 hours

x 4 280 B

280 hours

CQuestion |D : 9864492871
Status : Not Answered
Chosen Option ;-

Q15 gEage Wifed 3eEa 2017 i Asarh B g F & i

The 2017 Brahmaputra Literary Festival was hosted by which city?

Ans TEAF
:

Lucknow
FISTRIET
Kolkata
P

Shillong

v T

Guwahati

» o2

Question 1D ; 9864492402
Status : Answered
Chosen Option :4

Q16 102 = i T & RrnfSr R s enfire anfer ey 20 ST
By what number should 107 be divided to obtain 20?
Ans [
it
X 15
7
2 e
x 15
Vi =
g B
15

9
§,.
x 15

Cuestion 1D ;9864492622
Status - Answered
Chosen Option ;2

QAT ik & o 39 16 af § FafE 3oF aay v R e 30 7 ad i R ant W
@i e A1 3 I O 0 F I A 15 T @ Sl

Rathin is now 16 years old while his cousin is 7 years. After how many years will Rathin's
age be 1.5 times that of his cousin?

Ans ?{1 g
X212
X310

J 411 Latest Sarkari Jobs, Govt Exam Resullts,
§ ; Know More
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Question 1D : 9864492712
Status : Not Answered
Chosen Option : -




Qigaf-Fat+ L +myT - ~Fmaf-Foa =« F AT 35-7x
14+ 28 = gFw faffa =4 .

If — means +, + means +, * means — and + means *, then determine the value of 35 -7 =
14+ 28,

Question 1D : 9864494299
Status : Answered
Chosen Option : 4

Ans X 1.20
X215
X324
V19

Q.19 R v 7% 97 faew T A 7w & T d o e A sl A
e o8

i

Question 1D : 9864494028
Status : Answered
Chosen Option : 4

ﬁ_a.mtm.#ﬂmﬂmmammmm

Hepe
1. wgA. 8w & Awfrn e §
2. sk d dwer Sefaat sy dived e @ Atsh & g s
#
Consider the given argument and decide which of the given assumptions is (are) implicit
in the argument.

Argument:

Duse of IT recession, many software engineers lost their job.

Assumplions:

1. IT sector jobs are mot secure.
2, IT sector companies lay off software engineers quite ofien.

A o] ik 2 o=t BT &
Both 1 and 2 are implicit.

CECY 1

: A= 1 fafa B
Only assumption 1is implicit.
ael 2

: A= 2 fafka &
Only assumption 2 is implicit.

. 132 26 & P

Neither 1 nor 2 is implicit.

X

X

Q.20 37 g # 99w F{ S A e v GAF & wEa a@

Cluestion 1D 19864494032
Status : Answered
Chosen Option -4

Select the figure that does NOT belong in the following group.

@-@o -El.n‘@'.
Ans ;1(:5 : =

X2 A

X31B
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Q.21 Frelr wam & T 10 w1 T i F diwe s 15 07 FEfE we o - _
mh 25 Tt & weh wien & st W 16.2 W e & mi ot & Question 1D : 9864492658
Htee = e Status : Answered

The mean scare in o test of the 10 boys in a class was 15 while the overall mean of the 25 Chosen Option © 3
students in the class was 16.2, What was the mean score of the girls?

Ans. X 1.16.8
V217
X 3175
X 416.5

A% wEmRr WRAWT F GRIT W 3e9G FH A §7 Question 1D : 9864493416
What are the products formed during photosynthesis? Status : Answered

Ans T 3T sitEde Stamalls sl
o Starch and Oxygen
X 2 Terd, Ser R sffadre
Starch, Water and Oxygen
J Glucose, Water and Oxygen
. Tefelel R Siferdiste
Glucose and Oxygen

v

x

Q.23 ey 12 A7 afty 0 T wrlien & T 2 5000 T A b TR AT S AT T 50 T
sty o et e € a0 1wy e g S s A oy v ¥ s amstion I . AREAIDIN0%
T & Status : Not Answered

Vishnu spends T 5000 in buying 12 tables and some chairs. The cost of one table is ¥ 50 Chosen Option : —
and that of one chair is ¥ 40, What is the ratio of the numbers of the chairs to the mumber

of tables purchased?
Ans X 1.55:4
X251
N3 5:2
vis55:6

Q.24
2017 # e Atdem # ol g A R AR e S 3 Question |D - 9864492184
Who is the first female pilot to be inducted into the Indian Navy in 20177 Status : Not Answered

Ans AT FEFT Chosen Option -
.8

Dipa Karmakar
, S0 FHH
Zaira Wasim
| o uiAw
Tessy Thomas
& YN T

Shubhangi Swaroop

X

X

Q.25
Question 10 : 9864493686

Status - Answered
Chosen Option : 2
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frafaf@a R & fras Ber alsg §2

How many ftriangles are present in the below figure?

are o140
X228
X339
X46

Q.26 feafafam & & e Fawt & ST oifae O § = o S @ afeafas
A RE A Y

In which of the following tissues are the cells living, elongated and irregularly thickened
at the comers?

Cuestion 1D 19864493215
Status : Not Answered
Chosen Oplion -

Ans m‘-‘
e
Collenchyma

T {ARISHT

. Sclerenchyma

NeeFrsAT

Parenchyma

o4 :

| Aerenchyma

~2

753

Q2 433X 54 FT A T FAT B?

The LCM of 48 and 54 is:
Ans X1 6x2%9

Question 1D : 9864492822
Status : Answered
Chosen Option :1

M 2ExXEx3
/<348 x 54
i i6%x8x%x9

02 Crfafea & 9

Question |D : 9864494090
Status : Answered
Chosen Option ;1

XIGP : 172716 :: ZHEJ :
Complete the following.

XIGP: 172716 :; ZHE] :
Ans o 1191510
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< 2191501
X 3191511
< 4191601

Q.29 wrg wor & v el & @ &9 @ W § F1e a2
Which of the following is NOT a pollinating agent for cross pollination?

Ans
?{1.3“1EI

Cuestion 1D ;9864493238
Status : Answered
Chosen Option -1

Wind

x2 o)
Water

s
Animals

gher
Plants

e

Q30 #ta s ferer afEmay & srwaed &R fawe aw afae aeae
%, = g A B

Which famous cricketer co-onwns the Pro-Kabaddi team from Tamil Nadu named *Tamil
Thalajvas™?

CQuestion ID : 9864492310
Status - Not Answered
Chosen Option ;-

e W g

/5 A ? .
Krishnamachari Srikkanth
754 g
Sunil Gavaskar

Q31 ofy fordlr guress oW # afdw +2.0D g, & 77 = 2
If the power of a corrective lens is +2.0D, then it is a:
s Sedel ZYuT

CQuestion |0 : 9864493604
Status - Not Answered
Chosen Option ;-

&1

convex mirror
?(2.5 der €

concave mirror

concave lens

Q.32 frer # & o T B o 9 g, G gOT & S 2017
# e ® wafds R

Wl among the followimng dedicated the Chenagi-Nashn Tunarel — the longest road el
in India — 10 the nation in Apnl 20077

Question |1D ;9864492367
Status : Answered
Chosen Option : 1
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r 3
Pranab Mukherjee
3HT JHdgeel
3
Omar Abdullah
X 4 dgdlq T3
Chandrababu Naidu

x

Q.33 Fafafts & & #te-m Hader e Ao e b e i i @i
S EE e

Which of the following is the thisd meember of the Doberemer triad, that also features
Lithimn and Sodimn?

Question 1D : 9864493173
Status : Not Answered
Chosen Opfion : -

Ans
v q‘lifﬂw
Potassium

ani

Boron
CIrg:re |
Barium
QESED]

| Hydrogen

752

X3

>4

Q34 Prafafea @ FF QU S a3 WEAT aaT)

0 1, 8 277

Question 1D ; 9864493698
Status : Answered
Chosen Opfion ;4

Find the number which will complete the following series.

0,1,8 27,7
ans X125
X216
X125
v 64

Q.35 X wivaw & v 3 ey awa § oy i geey 4 Ty o= @ o
oA E| K I e AR iy i & e gl
h

X walks 3 km towards west, and then tums and travels 4 km towards north. The shortest
distance between the start and the end point of X's joumey is

Question 10 : 9864493916
Status : Answered
Chosen Option © 3

A x 1 8 ey
8 km
xz_sma
6 km
5 fereitAeT
5 km
7 frereT
7 km

W

F

Q.36 e afgmr Zdvr formd I aw et fr A A A . W sw I

Question 1D 19864493363
A curved mirror where the reflecting su ;
Latest Sgrkurl Jobs, Govt Exam Re.sults, Status : Answered
Vacancies and updates on one click




Ans
x 1_maﬁw

plane mirror

V2 3Haad gaoT
concave mirror
. HHTA-3edo g90T

X

plano-convex mirror
x 4 e gdor

convex mirror

Chosen Option ; 2

Q.37 F=afEe aFae & 98 30 & 7 FwFD ¥ oF 79 7 F #a &
e aeeT W AFETE T H IO (FAT E)
TFI:
wAg ¥ v R e S e

e
1. TR & A A A
2. & Bl e & gr wewet # HEe Siee & ager wi

Read the followmg statements and identify the logieally correat conchsion from the given
information.

Statement:
Time and tide wait for none.

Conclusions:
1. Time is ned in amyone’s control.
2. One has to keep moving m life forgetting the bad experiences of past.,

Ans O 1
1 AR 2 gt & HFEOT & A €

Neither conclusion 1 nor 2 follows.
v, | 3R 2 2 srEer X E
Both conclusions 1 and 2 follow.

| el fAshY 2 EROT R B
Conclusion 2 follows.

, el fAshY 1 3EROT #RT B

Conclusion 1 follows.

X

X

Question 1D : 9864494168
Status : Answered
Chosen Option : 4

Q38 G 71v RAFeat # & HeElOT g FT 9T FRT:
ofgar : Feelr 9@

Select the related word from the given alternatives:
Wheel : Spokes :: Fan :
Ans .
9@
v
Wings
X 2 e
Motor

<A

Round
Latest Sgrkurl Jobs, Govt Exam Re.sults,
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Question 1D ;9864493857
Status : Answered
Chosen Option : 4




gar
Air

.

QW Rrmwomaw s d e shirimdd
F B/ FHa T f

ow ge # Pt T w2

Question 1D 19864494253
Status ; Answered
Chosen Option 3

T,
1.§wﬁam¢fn
2 AR W 40% wEr f

Consider the given question and decide which of the following statements is sufficient 1o
answer the question,

How mamy cows in a herd are black™
Statements:

1. There ane i bodal G0 cows,
2. 40% of them ase black.

Ans x1
far 77 e @ FeT 4 & FRT 1 e ooy &, w2 e odee wE
#

Statement 1 alone is sufficient but statement 2 alone i3 not sufficient to answer the
question.

r @
far v wew & 3eeT 2 & Tow 1 3t 2 @ o Eng gaee s E, i we
F I i T 2Rt awd & s
Statements 1| and 2 together are not sufficient, and additional data is needed to answer the
question,

v:
fw T W W AT & & @ 1 T 2 £ e w T At gt
FEH g @ E
Both statemients taken together are sufficient to answer the question, but neither statement
alone s suffichent.

F
for 1T o T T 3 & Bye 2 s oaew & ST 1 s odfew o
Bl
Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

Q40 B & & wtw & diftsfaEt & === o= (Buoyant force) & siftmer &1
T #r?
Which of the following physicists explained the existence of Buovamt force?

Question 1D : 9864493419
Status : Not Answered
Chosen Option : -

Ans x ) ma; H“EE.
Isaac Newton
g
Archimedes
STH 9TERel
‘Blaise Pascal
Ty e & FHorw
| Charles Augustine de Coulomb

¥ &

o3

.

Q.41 Zr wwms &1 A 15 0 11 ¥ 3 3 Fgees FAEaE13 ¥, wemd we
£
Two numbers are in the ratio of 15 £ 11, If their H.C.F is 13, Find the numbers.

Ans. K 1.195, 141

Question 1D : 9864492463
Status : Answered
Chosen Option : 2

< 2 196, 143
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W 2195, 143
X 4195, 142
Q42 fae 1w wie @ oF ol Mol s = 3w & Question ID : 9864493771
afiror 3, wrét A A R S (T ZvEEE T A i) @ e i Status : Answered
it st S A Chosen Option :3
e ownn | gfEer (g | oftew (T
1 A A0 a7 E=] a7
2 B & 26 EL-] 86
3 C 81 m 4 Fil
4 (1] 1 T 3 1

Read the given chart and answer the following question.
In south, what &5 the percentage of seats won by party A (round to one decimal)?

Parties and Seats won

Serlal
mumber

Party | Souwt
h

East

West

North

40

37

35

27

LB

]

26

T6

23

(™

83

k|

4

21

da

g 0 W =

1

7

]

i

Ans X1
N2
v
X 4

30.5%
30%
30.8%
3%

Q.43 drex it I & 3H A 5 AT # Haw §1 35 A WS =9 G w5 R e
mmmmtmﬂmqﬂnmtﬂmsgﬁtmmm

A 2T % IR W e A
The difference between Peter and Preeti’s ages is § years. When they married each other Chosen Option : 3

35 years ago, 4 times Peter’s age was the same as 5 times the age of Preeti. What is the

current sum of their ages?

Ans
1

Nz

3

X4

105 9%
105 years

129

112 years

1159

115 years

110 J¥

110 years

Question 1D : 9864492732
Status - Answered

Q.44

Question 1D ; 9864493785
Status : Answered
Chosen Option : 3
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# & E oeiE gl W S99 UH a6 9O S48 O BAE SAET) §E R
# oo = A wEy E

AlS

1 2

=2|a8

DrorQ

k h of the below figures only once and form three groups. The three groups so
are:

[De] £} []
()

Sl
B
Diof

Ans  of 1 (1,3,5), (2,4,9), (6,7.8)
X 2 (1,3,5), (2,7,9), (6,4.8)
X 3.(1,35), (6.4,9), (27.8)
X 4.(1,3.5), (2,4,8), (6,7.9)

Q45 3017 # viimg AfgEr Feeash SRmafie & A Fa @ gr & &
A e & wRfes gedars A% S5 F =0 95w e

Which country hosted the Asian Women's Boxing Championship in 2017 when India’s
iconic boxer Mary Kom won gold?

Cuestion 1D ;9864492239
Status : Not Answered
Chosen Oplion -

e ICGoIr

e
Vietnam
AT
N2
Japan
X 3 '!'
Indonesia
X 4 e
China

Q.46 smw & wteer Fem s s Siedt #te & T F o TomEa wEET £
India's current finance minister Arun Jaitley is a Rajya Sabha member from which state?

Ans DENGE
i’
Gujarat
N2
Punjab
g
Haryana
x o 3R e
Uttar Pradesh

X3

Question 1D : 9864492268
Status : Answered
Chosen Option ;1

QAT s = g wo & Far s A e e e fr e s wd e wmEr i
Which of the following type of medicine is used to treat indigestion?
Ans

Question 1D : 9864493149
Status : Not Answered

Ehaaan Option : —
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x , CfereTAe
Antihistamine
s veraE
Antacid
Tarafew
Antibiotic
: HeHT 24T
‘Sulpha drug

53

Q4 yfrar F T YR F AT g=iaT gar g ?
What is the type of asexual reproduction in Amoeba?

Question 1D : 9864493397
Status : Answered
Chosen Option : 3

Ans m

X1
Budding

X2 Ao Fer-gie
Vegetative propagation
ETSAT0] (FIR) 15

X3 o
Spore formation

Py Ay e
Binary fission

Q49 A 7 B wro fAmer B 7R & 21 e & 90 @ we B TR A e
FREF N FA R ET L i oy It e oz B
AT R FTHE O TH O R R SR W On s # 25 e e
afE B, A # g # 3w T A A B =E wR w1 A T R

Question ID : 9864492909
Status - Answered
Chosen Option : 4

T AmT?

A and B together can complete a task in 12 days. However, if A works alone, completes
half the job and leaves and then B works alone and completes the rest of the work, i takes
25 days in all to complete the work. If B is more efficient than A, how many days would it
have taken B to do the werk by herself?

Ans X 1.22
V220
X318
X 415

Q.50 §ry 3 ey vy 5 Ay v A e gl S
The number of free electrons in the outermost shell of carbon atoms in diamond is:

Ans m?_r

Question 1D ;9864493131
Status : Not Answered
Chosen Option : -

1
three
=g
Y S
Zero
F a
two
x4 =1EY
four

**' 5329 F FIHA T &2

Question 1D : 9864492984

Latest Sarkari Jobs, Govt E: R It Slam : hnsmmd
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Ans ?{1 94
X 296
X397
vi73

052 Ryegreriftrat it SR R A ¥

Insulators have resistivity of the order of:

Ars v 1020m# 107Qm
10*20m to 10*" Om
x 2 10°20m# 10~ OQm
10720mto 10~ Qm
X3 10°Qm ¥ 10°Qm
10°Qm to 10°Qm
o 10 2Om¥ 10~0m

1078 0mto 10~ %0m

Question 1D : 9864493345
Status : Not Answered
Chosen Option © -

Q.53 T 9T o T A AT 9T o F A #1600 ) afE i s g e 15 Fer Fa
ST §. A TEAT 5T 57 Rt Fark 7 sow e

The value of g on the moon is 1/6™ of the valee of g on the earth. If 2 man can jump 1.5
m high on the earth, on the moon, he can jump up to a height of:

Ans x1_ﬁm
6m
xg?.sﬁraT
7.5m
L
Om
x4 4.5 Hrex
4.5m

Question 1D ;9864493080
Status : Mot Answered
Chosen Option : -

Q.54 goo aferd Fmurer s ¥ &1 o1 w6 ueOl o)l 3 T 834 8 St B an A
ferafae & ad ofsr w7

At 6% simple interest per annum a sum of money became ¥ 834 lnﬁ-;;.rem. The sum
initially invested was:

Ans X 1. F 650
v 2 2600
X 33675
X 4 T 626

Question 1D ;9864492707
Status : Not Answered
Chosen Option : -

Q.55 giftaw FrEfAz &1 el s & afen # 3o dw S & @l
The gas evolved when sodium carbonate reacts with hydrochloric acid is .

Ans mﬁﬁ
p.
Hydrogen
FANT

P
Chlorine

x ; TR FARES

Hydrogen Chloride
Latest Sarkari Jobs, Govt Exam Results,
N " Know More
Vacancies and updates on one click

Question |D : 9864493487
Status : Answered
Chosen Option : 3




wmsrsaﬁamwg

Carbon dioxide

Q56 37 wwar @& A w1 W PaT wAg § wEne a6 f

71,73, 77,79
Select the number that does NOT belong in the following group.

Question |D : 9864494007
Status : Not Answered
Chosen Option ; =

71,73, 71,79
Ans X 1.79
X271
V77
X473

Q.57 o
Foy ey wrar & W IS R A Question ID - 9864492081
The people of the Indus Valley Civilisation worshipped ] Status : Answered

Chosen Option : 3
Ans ga‘qm
G

Hanuman

i Ayyappa

v 3
Pashupati

Q58 FMT H o il IEUH TET BT R Question 1D : 9864493072

Number of ¢ and 7 bonds in benzene, respectively, is: Status : Answered

Ans x1 ﬁaﬂt3 Chosen Option ;1
6 and 3
v: 123K 3
12 and 3
x 5 9HR3
Oand 3
x 4 3HR3

Jand 3

Q.59 2016 # 7T BE & FAC O TR UOTAES AT e F R A :
iR TENIT TETAT? S OR § °F WAY O% IEes i et s O Eatin 10 -ABSEeSR0

Who took over as the new chirman of the Tata Sons cined Vistar Airline in 20167 Pricr Status : Answered
to this, he was the Managing Director of Titan for & long time. Chosen Option : 3

e x , T
Cyrus Mistry
x o T TRATA
N Chandrashekaran

x 3 ; Latest Sarkari Jobs, Govt Exam Results, m
¥ Vacancies and updates on one click
Ramadurai




W ol
Bhaskar Bhatt

Q80 afE 493 +~ 29 = 17 & @ 493 + 0.0017 =2
1493 + 29 = 17.then 493 + 0.0017 =2

Question 1D ;9864492880
Status : Answered
Chosen Option :1

Ans O 4 0‘29
v'2 2900
X 3290
X429

Ul e & Fie A A S ad 22
Which of the following is NOT a noble gas?

Question 1D : 9864493274
Status - Mot Answered
Chosen Option ; -

Ans x : m

Radon
, FAe (Xenon)
Xenon

Freet
'K.ryptﬂn
GEEED]

Hydrogen

x

73

W

as2 SpCl, + 2HgCl, ~» Hg,Cl, + SnCl,

IRIFT HHFAT A

Question 1D - 9864493150
Status : Not Answered
Chosen Option : -

SnCl, + 2HgCl, -» Hg,Cl, + SnCl,

In the given reaction:

Fe o SnCl, 379=fda g Srar &
SnCl, is reduced

i SnCl, HTFHFHT 21 ST |

SnCl, is oxidised

3 HgCl, TFipa &t ST 21

HgCl, is oxidised

x . HeCl HieFIpd & ST &

Hg,Cl, is oxidised

Q.63

Question 1D : 9864493957
Status : Not Answered
Chosen Option : -
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fear wror @ T (Problem figure), w 7r 307 RSt (Answer figures) # #
et v & ofenfes feor e &) St 3o B (Answer figure) Fh9 7T &7

Problem Figare

l\/]

Answer Figures

B

A m

The given Problem Figure is embedded in one of the given Answer Figures, Which is that
Answer Figune?

Problem Figure
Answer Figures

(;‘__-_,__1 E{.l‘ ’
| [— .

Ans X1 D
X2c
v B
KA

Q.64 Tl Frags &1 UF g1 41 FERET ¥ A gwe dwe 720 S S " ]
¥ wwir Rreut 1 ==k &1 der 7= EeT Question 1D : 9864492655

The length of one side of a rhombus is 41 cm and its area is T20cm®, What is the sum of el Alewersd
the lengths of its diagonals? Chosen Option : 2

A
", 82 W
82 cm
x , 80 AT
80 cm
v » 98 WA
98 cm
90 #dre

90 cm

F

Q.65 7 = wr-FwAn & T @ # ¥ R ¥ A7 79 & wEs A e : _
ET A ¥ UF TR AE Zan s O ) gl wges w9 Question |D : 9864492100

Slatus : Not Answered
This pass is in the Zaskar range of Jammu & Kashmir. The road route from Srinagar to v
Leh goes through this pass, Tt has been created by the Indus River, Identify the pass, Chesen Option :

Ans

b B Hiedl ER&
Mana Pass
Xz . Eﬁ'
Rohtang Pass
s sfer ar
Zoji La Pass
o e &

Niti Pass

Q.66 .
Gaesiion 1D : 9864494003
Latest Sarkari Jobs, Govt Exam Results, 5
Vacancies and updates on one click Status : Answered



T T = el s soges BwsT & 9 &1

str =t gaw Fui # goen # dfte ofde semee S
Complete the following sentence with the most appropriate option.

Solar energy generates more power than wind energy.

Ans x1maﬁ.

never

FafT afr

sometimes

754

often

W

Chosen Option : 2

Q.87 fomafafem Aua &, ma R (7) @@ R 7o s oF amm
sateys ¥ fa o R ¥ sepeiiyE sew o wow S

QoLH?

In the following series, one letter is missing as shown by the question mark (7). Select the
missing term from the given options,

Q0L H?

Ans 1 D
vac
K3A
X4iB

Question |0 : 9864494222
Status : Not Answered
Chosen Option ; -

Q.68 13 ¢ o5 T A W FA A 37 K AT M TEw F A 8 F @ w4
frmmEHFEE . MR S SRR w

13 years ago Ram was twice as old as Sunny, Three years from now Sumny's age will bcf
of Ram’s age. What is Ram's cument age?

A
" o, 12T
72 years
.77
77 years
x, 68439
64 years
x . 80 T
30 years

Question 1D : 9864492772
Status : Not Answered
Chosen Option ; =

Q.69 o7, gt 3T T P AT A A, T o7 & e @ At At & am
I 5 : 12 ¥ e e et @ oA 2wt oAy 7 15 | e
T g Sl o T[T S & W a0 S OT?

In a bag containing red, green and pink toleens, the ratio of red to green tokens was § - 12
while the ratio of pink to red tolens was 7 ; 15. What was the ratio of green to pink

Tokens?
A of 13807
X 225:28
X312:7
?{: 4 23 . 25 Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

Question 1D ; 9864492845
Status : Not Answered
Chosen Opfion ;-




Q70 57 fy F7 TO9 W, S e TEg ¥ wET A8 8 Question ID - 9864494281

Status - Answered

) “ = ol Chosen Option : 3
Y/ .| =
1 2 3 4

Select the figure that does NOT belong in the following group.

<=
1 2 3
Ans x14

X 21

Va3

X2

Q.71 foer o & s & #iF O o 59 AT & oRteies w1 o oS sl
Frusy rmw det i v mm S b dm dw A F 7

Eatada

Question 1D : 9864493768
Status : Not Answered
Chosen Option ; =

FoolhalFmiti Kabadd S5 Cricket s

In the given Venn diagram which letter represents all those who play Kabaddi as well as
Football and also all the three games?

Feathall ¥

Ans X 1 g4y
X2s
X 3 S+T
v 4 s+Q

Q72 4000 T 54% f&FaaT grem: Question ID ; 9864492846

54% of 4000 is: zltlt;:fm Answered
Ans X 12025

V2 2160
X 32172
X 4 2232

Q73
Question 1D : 9864494095

Status - Not Answered
Chosen Option © —
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Ans

TE wFA AN W ReR #1 e aur W aAw oA e
gumenst # & Fhw s st 1

TR
A e F fEE =R & B o g

e

1. SeEHT T HEIE A #
2 9T W WA A FO I A6 TEey e A
Consider the given argument and decide which of the given assumptions is (are) imphicit.

Argument:

Warning: Consumption of alcohal is mjurious 1o bealth,

Assumprions:

1. This waming is mot required.

2, Non-alcoholic people are healthy.
v

AT & JEUROT 1 A & qEuUReT 2 ¥eafafed gl

Neither 1 nor 2 is implicit.

E gl EuRuTd seafatea #
Both 1 and 2 are implicit.

" % qEumor 1 swatafed &
Only assumption 1 is implicit.

, [ qaumon 2 seafafes @

Only assumption 2 is implicit.

X

X

X

QM4 mys Ay ST R T i fmarar o &

Ans

nfar 70 fmeT 9fF 92 & & 7 & e i

A train crosses a 375 m long platform in 27 seconds. How long was the train if it was
travelling at the speed of 70 km/h?

x 1 525 AT

525m

160 #Hrex

160 m

X 3 140 #HrX
140 m

» 150 #Hrex
150 m

b

Question 1D : 9864492770
Status ; Not Answered
Chosen Option -

Q.75 & T & vw Ry wdww & Tv wE = 3o omml & o o e

Ans

FrER & 4 T o = dm o TwE s TEe wiefee a sitee o
stee W ¥ Ss T T apene & S R ofr & o de

Samit was given some money o take care of his travel during a G-day sales drive he had to
undertake. However, he had 1o increase his stay by another 4 days and as a result his
average daily travel allowance went down by ¥ 56, What was the amount that was.
sanctioned (o him in the beginning?

X 1. T 420

X 2 336
Latest Sarkari Jobs, Govt Exam Results,
5 5 Know More
Vacancies and updates on one click

Question 1D 9864492798
Status : Not Answered
Chosen Option : -




W 3 T 840
X 4 T 560
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